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2016 (A) A

SSC PART-I (10th CLASS) i
OMPUTER SCIENCE GROUP- by - ) Send
TIME ALLOWED: 2.45 Hours SUBJECTIVE ¥l Loss =
MAXIMUM MARKS: 63 g3 = .':’J

NOTE: - Write same question number .q..bzx,ﬂH.Jlrfﬁg‘.": M}'Z’EJM"{Q‘W

and its part number on answer book, as given in the question paper.
SECTION- Jie

2. Attempt any six parts. 12=2x6 & fenlmg e -zﬁUf:_*
() Write any two limitations of Fiowchart - 2R L»upud{g!@ ] lll
{ily Write down different types of Errors in program. -.._,[J},,ﬁ' ELJ—*!‘L(:‘ _‘I-‘E,,trl)':{ ﬁ,n
(i) What is meant by syntax error? Tt ,-lf-::i;l (iii)
{iv) Why is it important to identify a problem? ?+ﬁl51u[ EIMJ( (iv)
(v) Whatis BASIC Language? fau’éf_eLﬁ_: (Y
(vi) Define Variable? ey S A _(.a.n]
(vil) What is the use of Numeric Variables? Ly S s (i)
(vili) Write the method to load a Program in BASIC. -h{.&,-f;r_:_)m.fﬂ;-u:{cﬂcé Iviliil
(i) What is meant by Numeric Constant? ??ql'xi{;.‘.a::-‘f-—éﬂ'i (ix)

uﬁuﬁ}:—éf -3y

3. Attempt any five parts. 10=2 g.@.'_
' LA d:ﬁ’ 0]

(il Which statements are used for the Conditional
Transfer of Contral? Write their names. A e (o= il Y
(i) Write the syntax of FOR . . . NEXT loop. - K:,J FOR... NEXT (i)
(i) What is the purpose of Selection smm =
(iv) What is meant by Array’s Mampuiauun?‘ o e s \
(v} Whatis the use of Subscript in Array?. 0 o] * a@p}
(vi) What is meant by Array
Write the method


http://www.result.pk
http://www.a-pdf.com/?wm-demo

i (2) - 2
[ W
ECTION! <3
E‘T r ffemlerdeld
= & |
NOTE: - Attempt any three qUAIIBON: B fi K,ijr;.g'f‘j)ﬁﬂ Mok
5 Define Algorithm. Write @ Step-form Algorithm =
with example.
s s GWABASIC te el -8 \
&  What is meant by Variables? -uff l:«'L‘L'rt’-”r'é’r tﬁ"‘uﬂ‘d
Discuss different rules for naming Variables in GW-BASIC.
! e T
7. Whatis meant by Loop? Explain -quu;;.dk’ﬁd’.fﬂﬂ FOR...NEXT fg-? e
FOR... .NEXT Loop with example.
_ﬁa_.)z.u—!ﬁ_e‘ﬂm GWW-BASIC Ly by Ss -8
& Define Fie Handing, Wiite File Access Methods in GW-BASIC.
.9

n. Describe the types of M@ﬂ@iwl S e ey

l'.l
TRy
N
»
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2010 (A) A
S8C PARTAL (101h CLABS)

PUTERSCIENGE GROUP.| yr < i/ Sod
TIME ALLOWED, 2,45 Hours SUBJECTIVE Wi 48 = 2
MAXIMUM MARKS: 63 g = AN
NOTE: « Wite same question number g G ¢ g b drangdidir -2

and lts part number on answer book, as given In the question paper. W

SECTION:| o h

4, Attompt any six parts, 12%2x0 Aifplimged) b
(1} Why Is It necansary to analyze the problem? ?f-dJWﬂ:f}{wd ’
() When doas the Syntax Erom eccur? < Uy A C i byt Gif
() Wrlte twa disadvantages of Flowehart #}/bvh&a&ﬁ (i)
() Define Algorithm, EDAET
(v)  Define Reserved Words .J-WAFP@W:’ ’.‘ﬁé

(v} What s meant by IDE?

(vil} What ls the purpose of using MKDIR Command?

(VIll) Wirlte the use of REM statement, \

{Ix}  What ia the difference betwean BASIC Commands
and Statements?

3. Attempt any flve parts,

() Wite syntax of ON.... GOTO statement,

(i) Whyls wmu! : w&ﬁﬁrﬁﬁf ned?

(il Whatis .

10m2xB
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. <
W
) -
3 ey b)
| 2 f w 5
SECTIONIl (1 R

; <
= 14 ._",;L"m,fuf ;“\L
'NOTE: - Attempt any three questions. 21 ?‘13 | é}{' = ;J -4 o
5. Whatis meant by Debugging? _Z kb fuza‘xdlw't{fd”u-'f' J-;. ?=:T:b'k"c- LR
How many types of Ertors can occur in a Program? Describe in detail.

6 Briefly Describe the following Commands:- ~E s 8
JAUTO() (i) CLEAR() (ii) DELETE ( ) (iv) EDIT ()
VLOAD ()  ()RUN() (vii) LIST ()

Lte AL DPETP Pt e JESY 7

I? Descrive Conditional transfer of Control
- 1“. -
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CODE 2016 (A) A

SSC PART-l (10th CLASS)

UTER SCIENCE GROUP-I i - prf St

TIME ALLOWED 18 Minutes OBJECTIVE ;,faﬁ...-’ a6 = &0

MAXIMUM MARKS: 12 12= A
M i § SR s ir 2 s i (VAR g4 D 41 © B A sl L ot
S St L el /24 Bubbles er’nll.,.flmﬂ;ﬁan‘!ﬂ.fi Juxy L Sfnsmpiet) -2

Note: You have four cholces for each objective type question as A, B, G and D. -u{ﬁd"‘&m g ggr
In front of that question number, Use marker or pen

The choics which you think is correct, flll that clrcle
will result in zoro mark in that quostion. Attampt a8

to NIl the circles. Cutting or filling two or more circles
muny questions as given in objective lype question paper and lsave others blank. No credit will be awardad

A A

in cawe BUBBLES are not filled. Do not solva question on this sheet of OBJECTIVE PAPER.

Q.NoA

(11 Typographical errors in BASIC sialement are called - A s L L (1
(A Runtime o Jl 2l {B) Logical errors 'rf;lJ?,J
(C) Syntak errors Ly Sl (D) Execulion Brrors i/ iulkkss!

(2] GW-BASIC can operate in - --,’-Gz-'r-l-: (T-Gh_d‘ﬁ {2}
(A) One mode i.-._i"l {B) Two modes Jlrn (C) Three modes Jlﬂ_-j (0} Several modes -"Sr‘ﬁ/

(31 The maximum length of a varable in GW-BASIC is- R JW;_M-:IJJW-@J:HG (3
(A) 31 (8) 32 () 40 (D) 45

() _____ s nota logical operator n\f;ﬁ};ﬂ?ﬂ TAPRIENS - |
(A) AND (8) OR (B} NOT

(5 option can not be used to exi from an error LB by B

handling routine. {A) RESUME
(B Ismulti  branching stab
(A} IF_ ELSE

(7} Types of arary ane.-
(A} 1
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ER CODE 2016 (A) A
7833 SSC PART-I (10th CLASS)

PUTER SCIENCE GROUP- by -/ St

ME ALLOWED: 15 Minutes OBJECTIVE (52 w15 = Dy

MAXIMUM MARKS: 12 12= AF

Ao o \ SAAIISAL e L s Ll gV - L Es D 4 € B A b L .‘T“"-}

o A A (L 1o} Bubbles -GriiowalifbeSL SN L Ll rmie 2

Mote: You have four choices for each objactive type question as A, B, C and D. -l.{M /:1-' Wryg 4= :

The cholce which you think is correct, fill that circle in front of that question number. Use marker or pen N

to fill the circles. Cutting or filling two or more circies will result in zero mark [n that guestion. mm""‘l a \

many questions as given in objective type question paper and leave others blank. No credit will be awarde
in case BUBBLES are not filled. Do not solve question on this sheat of OBJECTIVE PAPER.

Q.No.1 R 1 7

(1) The Multi-branching statement is:- e P
(A)On . GOTO (B) IF . ELSE (C) GOTO (D) ON ERROR GOTO

(2) One cycle of a loop is called - ..,-.wfé...gnfﬁ! @

{A) Bicycle JFLdL  (B) Test==

(3) ___ word is used for increment or decrement in counter vaniable. J;.r:&r' |
{A) STEP (B} SKIP (C) NEX’

(4) By default, the index value of the first element of an aray is:-
(A) 0 () 1 :

(5) An element of an array is mentioned by its.-
(A) Array &)

() ABS (-15) is equal to:-
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